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Potential Final Exam Questions

For all questions, specificity will be rewarded more than general statements.  Show all work.  Five questions will be selected to be on the final exam. No notes, books, or computers will be allowed.  You may bring a calculator.
1. A number of economists argue that neoclassical (and even new) growth theory cannot account for why some countries are rich and others are poor.  

a. Cite three variables that explain differences in levels of income according to neoclassical economic growth models.  Indicate how differences in levels of these variables relate to differences in income per capita.

b. What do Bosworth and Collins claim about which factors account for past economic growth?  Note two empirical problems that confound their results.

2. Is world income inequality increasing or decreasing?

a. Explain what neoclassical growth theory has to say about whether incomes will converge or diverge.

b. A number of analysts claim that we have “Divergence, Big Time” in world income inequality.  How do they support such a claim?

c. Xavier Sala-I-Martin begs to differ with this report.  What evidence does he use to confront “divergence, big time?”

d.
Explain how attempts to explain inequality reduction differ from those for poverty reduction.  
3. Economists posit a variety of reasons for slow economic growth.
a. Use diminishing returns to factors of production to explain why growth rates, especially for industrialized countries, will slow or even stop.

b. Explain, using an exhaustible resource argument, why economic growth rates, especially for agriculture-based economies, are likely to slow or even stop.

c. Some economists reject both the claim in a and b.  What argument do they use to counter such claims? 

d. How would you answer the question “Are We Consuming Too Much?” Explain.
4.
Which factors matter most in explaining growth in per capita income?  Use a Hicks-neutral, Cobb Douglas production function that includes years of schooling to represent human capital and the table on the next page to answer parts a – c.
a.
Determine the amount of implied growth in total factor productivity per worker for each country.  Assume ( = .25.
b.
Determine what proportion of the variation in per capita income growth can be accounted for by growth in capital accumulation per worker.  Indicate any key assumptions.
c.
Can the results in b. be used to claim that increases in capital lead to (or cause) increases in income? Explain.

	Country

1980- 1992

Demirguc-Kunt and Levine
	Per Capita Income Growth
	Capital per Worker Growth
	Schooling Years per Worker Growth

	Bangladesh
	1.91
	-0.63
	2.83

	Hong Kong
	5.03
	5.84
	2.18

	Indonesia
	4.85
	9.04
	2.43

	India
	3.15
	2.67
	2.66

	Japan
	2.99
	4.10
	1.18

	Republic of Korea
	7.50
	8.37
	3.06

	Malaysia
	3.82
	5.27
	2.12

	Pakistan
	2.57
	2.43
	2.75

	Philippines
	-0.65
	0.38
	1.05

	Singapore
	5.23
	6.09
	3.94

	Thailand
	6.64
	5.35
	3.18


5.
The neoclassical approach to understanding economic growth uses competition to explain how steady state income (or the steady state growth path) is determined.

a.
Explain the neoclassical argument.

b.
Some non-neoclassical economists suggest that the stylized facts of economic growth are not consistent with the neoclassical argument.  Cite one such stylized fact, indicate how it is inconsistent with competition.

c.
How might such a critic determine the long run equilibrium (or equilibrium growth path)?
6.

In the last 50 years, a number of countries have experienced rapid growth while others have exhibited either stagnation or decline.

a.
Assume country A has a per capita income of $10,000 while country B has a per capita income of $30,000.  If country B is growing at 2% per year, how fast would country A have to grow to catch up with country B in 50 years?  100 years?

b.
Based on what we know about growth miracles from 1960 to 1997, how likely are the results in a?
c.
Given the evidence provided by Jones, should countries with income 10% -20% of that of the U.S. be optimistic (on average) about the future?  Why?  What about countries with 20% to 40% of U.S. income? Optimistic means that the country will grow faster than the U.S.
7.
One version of the Romer model yields the following steady state balanced growth time path for income per capita: 

y*(t) = (sk/(n+g+d))(/1- (((/g*e(u)1/(A*(t)  - equation (6.8) in Jones

 
- where * indicates steady state values.

a.
Explain what each key factor ((,(, ( and A) represents in accounting for the steady state path of income per capita.

b.
Show how the above equation can be used to determine differences in growth rates across countries.

c.
Indicate how differences in idea generation (development) and technology transfer affect steady state income levels.  Be sure to discuss how the above equation characterizes the inability of poor countries to adopt the technology available in rich countries. 

8.
Assume that output for a given country can be characterized as follows:

Yi = Ii*(Ki)((Li)1-(

where I = infrastructure, “i” = country, and 0<(<1

Assume that the rate of return on capital is equalized across countries and that the other rules for steady state determination used in the Solow model apply.

a.
Determine the marginal product of capital for country i.

b. Determine the capital-output ratio in steady state for country i.

c. Do differences in I across countries affect differences in capital accumulation rates?  If so, indicate how?  In not, why not?
d. What key variables does infrastructure affect?

9.
Consider an economy that produces two goods: one (Y1) that uses a non-renewable resource – R - and the second (Y2) a simple service that requires only labor.  The production functions for the two goods are indicated below.  Assume that Y1 + Y2 = Y and that both goods sell for the same price (set to 1 for simplicity.)

Y1 = BK(E((AL1)1-(-(   E = vR0e-vt where v = E/R  and R=available resource
Y2 = AL2

Labor is allocated between the two outputs such that s= L1/L and L= L1 + L2.

a. Determine the total GDP for the economy in terms of B, Ro, A, v and L.

b. Find the value of s that maximizes GDP.

c. What happens to s* as A increases?

d. Assume a competitive economy. What happens to the share of income that goes to owners of the natural resource R as A increases?

10.
Deep determinants of growth

a.
In his review of Bosworth and Collins, Frankel refers to “deep” determinants of economic growth.  What does he mean and what indicators does he cite as deep determinants?
b.
In a similar vein, Heitger refers to “ultimate” versus “proximate” causes of growth.  What does he cite as an ultimate cause?  A proximate cause?  How does he make his case? 

c.
Jones refers to social infrastructure as a key factor in explaining differences in growth across countries.  What does he mean by “social infrastructure?”  How does he attempt to incorporate social infrastructure indicators into his explanations of growth?
d.
Is trade a “deep” determinant or “ultimate” cause?  Why or why not?
